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Answer1

A company makes monsters.
The company makes small monsters with a height of 20 cm.

A

Height 20 cm
L v
A small monster has a surface area of 300 cm?. g‘l M A SH APES
The company also makes large monsters with a height of 120 cm.
A small monster and a large monster are mathematically similar. A]ZE A PAC(OYQ
2
Work out the surface area of a large monster. - @ CARLE \CA—(ICNZ_)
\JoLume Carr
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Answer 2
Here are two supermarket price tickets.

Diagrams NOT
accurately drawn

J VI\

oon €
K

The two supermarket price tickets are mathematically similar.

The arca of the smaller ticket is 7 cm?.

c=c g P s

R I
C=2:F -= 63
% =%
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Answer 3

L and M are two mathematically similar prisms.

Diagram NOT
accurately drawn

20cm

A

cm
L M

Prism L has length 8 cm.
Prism M has length 20 cm.

Prism L has height 3 cm.
(a) Work out the height of prism M.

L. M= g2
SF=20/8=2.5

3 x sf = height of m
x25=75
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Answer 4

Prism M has a volume of 1875 cm’

(b) Work out the volume of prism L.

Volume scale factor = length sf*
2.5=125/8
Vol L x Vsf = Vol M

Vol M / Vsf = Vol L

1875 x8/125 = 120 120
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Answer5

Diagram NOT
accurately drawn

Triangle POR is an enlargement, centre O, of triangle ABC.
OAP and OCR are straight lines.

04 =3 cm.

AP =12 cm.
OC=3.5cm.
PR=19 cm.

(a) Work out the length of CR.
SF = g 3Ixu=ll
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Answer 6

P and Q are two triangular prisms that are mathematically similar.

B
A'
W — Diagram NOT
6 cm ¢

T accurately drawn
D /

Prism P v % > SE-2 Prism Q

Prism P has triangle ABC as its cross section.
Prism Q has triangle DEF as its cross section.

AC=6cm
DF=12cm

/= Acea O Crass Sectiond xlerey
The area of the cross section of prism P is 10 cm?,
The length of prism P is 15 cm.

Yersm

Work out the volume of prism Q.

Smieae CHAPES T

\/Q ) v?  Vorume Ercron Aeea Facror :@CM @wz;ra)l

Vorwume Frctue = @CA/LE FM@@Z

\/?: lox 1§ =020 0

\/& - 150 « 7°
= ISO X’Z. X1 x L

= 200 x 11
— ]MOC/M?

Vo0 e
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Answer?7

Fred is making two rectangular flower beds.
The dimensions of the larger rectangle will be three times the dimensions of the smaller

rectangle. g F ==
There is going to be the same depth of soil in each flower bed. A@E ‘
Fred needs 180 kg of soil for the smaller flower bed. o ‘ A

Work out how much soil Fred needs for the larger flower bed. SoUsg /{ﬂé)* FA‘C(’QWL

S| LAR SHAPES

Smate ok -
D 3 |heen Facoor :(Sowz Fhcron)

a = - (ScALE ThAcT ]
QP: 3) /JCIP”—E \f@]_u_éﬁﬁ@r&(c 0@_

LAec e

[N
Avoyne O Core = & x |80

- (ol
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Answer 8

Mark has made a clay model.
He will now make a clay statue that is mathematically similar to the clay model.

The model has a base area of 6cm?
The statue will have a base area of 253.5¢cm?

S Lar SHAPES

Mark used 2kg of clay to make the model.

Clay is sold in 10kg bags.
Mark has to buy all the clay he needs to make the statue.

A@A— frctor f(SCAUZ FA(TO@l

3
s 77 =SNG = FM (&
How many bags of clay will Mark need to buy? \[OLUMg F%OK @ i 2 )

WA ?&Lf’cm_ = 7535

2
So Scme Vrecpe = ZE? :..’-2:-}

3
Co Votume Cazcgv = %}
2
Mass Of Ctatve = 7/ (i;
= 56925 k
2

No 0F Baq = SkAS
(o
= G4 .42 RAGS
[(DHRLE ©BaxtS < S5 gace
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Answer 9

Solid A and solid B are mathematically similar.
The ratio of the surface area of solid A to the surface area of solid B is 4:9

The volume of solid B is 405cm’.

Show that the volume of solid A is 120cm’. S LAar SHAPES

A B
feca J—.\gét : C‘}F

heer Frcoor (SCALC FACZ’O@i
\orum € FicTor = (Scate frer 0@3

Lo {Z Sy cuee
\Vorum € 22 : 23 ~ o7
l UL+
S }(%{i Zj;_ xﬁ'ff:ﬂ 7 5¢
- - Lt 0%
_ € 2E
Voumie o A= € (5 16« 32

- 120w’ s ges
S —

For more information please visit https.//www.exampaperspractice.co.uk


https://www.exampaperspractice.co.uk

;=

EXAM PAPERS PRACTICE

Answer 10

ABCD and APQR are two similar quadrilaterals.

PO =9cem.
BC =6 cm,
AD =5 cm.
QR =12 cm.

9 cm 0

Diagram NOT
accurately drawn

(a) Find the length of DC.

Scale factor big - small = 6/9
6/9x12=28
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Answer 11

Here are two similar solid shapes.

A /é—\ B
AF-= =

surface arca of shape A :surface area of shape B=3:4

S| Lar SHAPES

The volume of shape B is 10cm®

Work out the volume of shape A.
Give your answer correct to 3 significant figures.

IS , 2
- — S S&:' -
o2 s B

\/OLA( = \/P < VOL{_;

(E)Z x (O

(5694514
b

2<
sunp (J p

= 650 C/WL3
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]

1]
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Answer 12

P 18 cm _
- 7T~ >
. ]x 18 .
_ 12 cm S Diagram NOT
E & Lo 7 accurately drawn
2
5 cm Zé S
A G D
ABCD and AEFG are mathematically similar trapeziums.
AE=5cm Lb
EF = 12 cm UsE Scare Faccor
BC=18 ¢cm '
SE= € = ,%(3
(a) Work out the length of 4B. 2 ;zT_z
AR = AE ¥ SE _
il
i< 2>
= 5 X - —
- 2=
|
Z— —_—

—_—
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Answer13

Cone A and cone B are mathematically similar.
The ratio of the volume of cone A to the volume of cone B is 27 : §

The surface area of cone A 1s 297 cm?

S| LAr SHAPES

Show that the surface area of cone B is 132 cm?

Ao B

heza Frcor (SQ%C FAcfo@z

\orwm € Facor - (SCALE FMU@Z
VoLyme ) : <&
\—?/S,
VF: -{?
So SE - 2| &
77t
¢F - =
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A < =
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Answer14

Triangles ABC and ACD are similar.

4 Diagram NOT

\ y accurately drawn

5cm D
>
B C
Angle BAC = angle CAD.
Angle ABC = angle ACD.
AB=5cmand AC = 8 cm.
(a) Calculate the length of AD.
x Break down into Two similar triangles
()
AN
£os
2 = Sa
s ale Jackor
%x%_;x = E_\S':f-_' "._'8
. lz? R 1 o
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Answer15
Triangles ABC and ACD are similar.

4 Diagram NOT

\ I accurately drawn

5cm D
>
B C
Angle BAC = angle CAD.
Angle ABC = angle ACD.
AB=5cmand AC = 8 cm.
(a) Calculate the length of AD.
X Break down into Two similar triangles
()
AN
2. Scale J%{;or
- deg
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